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Money Market (| i # 3#) vs.
Capital Market (F* & & 3#-)

T

Interest Rate Futures

[
» Financial market are segmented into money markets and

capital markets.

= Money Market ( f " 7 3#)
---- Short-term, marketable, liquid, low-risk debt
securities.

= Capital Market (3 & 3-)

---- Longer-term and riskier securities.

Treasury Bonds, Notes and Bills

= Treasury Bond: A long-term, coupon-bearing
instrument issued by the government to finance
its debt. (10yr = )

s Treasury Note: A mid-term, coupon-bearing
instrument issued by the government to finance
its debt. (lyr = * =10yr)

» Treasury Bill: A short-term, non-coupon-bearing

instrument issued by the government to finance
its debt. (k = lyr)

% 3t ¥ 0 4 (Day Count Conventions)

[
= Day count conventions vary from country to country

and instrument to instrument.
= Actual/365: Money market instruments in Australia, Canada.
= Actual/360: LIBOR for all currencies except sterling.
= Actual/365: LIBOR for sterling.

» Actual/Actual: Euro-denominated bond.




TPty e ] (Day Count Conventions)

EY TR SIPCEE X
PR - I RELXIY £ e
w X ALY k.
ST TR XS
Y PR EE T R
= Actual / Actual

n U.S. Treasury Bonds

= 30/360
= U.S. Corporate Bonds, U.S. Municipal Bonds
= Actual / 360

= U.S. Treasury Bills, U.S. Money Market Instruments

Example : Actual / Actual

s FLAEEF LY R G

w BREBFEAELFE S R Actual/Actual® 5833 X i o
BREH I 8% FLE i - =3 3/1 22 9/1 Foko
FRAE 3L T/ P2 MFEELSL?
e 31~ 91 D 3x4+30x2=184 ( [3/1,9/1) )
s 3/~ 73 D 31x2+30x2+2 = 124 ( [3/1, 7/3) )

Z 40 124/184 x 4% = 2.6957 %

Example : 30 / 360

Bk & B2 30 % » & & 360 % o
BRESTHHFLEX > #F 30360 3 E <
froo B R JIF 8% &AL EL L - = 31
B9/l ek e 3/1 2 1/3 PR HEX

« 3/1~9/1 S 30x6=180 ( [3/1,9/1))
. 3/1~73 D 30x4+2=122 ( [3/1,7/3) )
Z 41 122/180x 4% = 2. 7111 %

Example : Actual / 360

 FLTREAETE S ERR 360 %
s BRETEL 8% R B A
= HF90% > F L 1 90/360 x 8% = 2%

 HF- &> F 4 1365/360 x 8% = 8.028%




K & % (Treasury Bills)

w o THIE R - &I T K
LR PIVAN SN S
= 91 days, 182 days, 52-weeks.
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R R % 3% i (Quotations for Treasury Bills)

|
R % - 48 7 pEIRF (Discount Rate) 3F i
FE % ehX #5358 2 1 Actual/360 -
FEA L B E - EDPRELFEH L F$100 0 ¥ g5
FH 6 A IA B $945 0 86 Hig- E L -
B m R 8100  nFEHFEF T8 Y ARE X R
£ 1 & (Cash Price) » P £ R L % «73F § (Quoted
Price) » R Y & P enff (238 40T

Y=100—-P x (n/360)
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W R % 4% i (Quotations for Treasury Bills)

|
s B Ol-day hRIE X o dFH 8 RIM A S

Y =100 - 8X (91/360) x (100 - 98)
=100-2.0222 =97.978

» Quoted Price 7= ¥ SR 5 & 1“ pEILF > 23 ¥ LR S HF
BIL X chdf o o S e g rfp s &

2.0222/97.978 x 365/91 = 0.0828 (# 91 % 45 f|- & ) -
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Fofr2 § o048 § (Quotations for Treasury Bonds)

|
» E FFARS e it Y S50 1 Actual/Actual
n FRFAF G EE $1003F G R E = 51/320
= Quoted Price =90-05 > # 77 & & §f $100 enf ¥ > 3¢ % 3
90 + 5/32 =1$90.15625.
mEE E"%&ﬁﬁf}i CRERHFRFECIEFL -
= Quoted Price = Dirty Price
= Cash Price = Clean Price

Cash Price = Quoted Price + Accrued Interest Since Last Coupon Date
|

YA Kth (k+1)th

|
I
3
Coupon P Bk Coupon
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FCRp e ff e03F i (Quotations for Treasury Bonds)
|

.ié@EEIHOEWMiHﬂioﬁaﬁin%o
Bkt 2 i 2003/3/5:03F § 5 95-16 0 Rt i % e
A i l‘% w9
w 1/10~7/10 # L8 B % dc: 22+28+31+30+31+30+9 =181
w 1/10~3/5 % L4 BF = 4 0 22428+4 =54
w 3FH 1 95-16=95+16/32=95.5

% 4 1100 x 5.5% x 54/181=1.64
#F $100 H2 & : 95.5+1.64 =$97.14

= % $100,000 0 % 0 & 5 $97,140

13

FCRp e § 8§ (Treasury Bonds Futures)
|

-JI}”T FH LR BEDEDNFDE CBOT =
%
PP P R RBESFFRES BIEE

» URBPHFOR - A LA ZFEGFHPF AN
15 & -

s MREPHEHE - LA R EF T 15 EpAR
HEHR o
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FCRpe § 8§ (Treasury Bonds Futures)

R P Tl B R S LS EET
NRABBE T LER E - B LR RS
e

s TRBYFLEBRIE (FPH) o
m 2H (FH) 713,69, 120
- TR E B &% $100,000 -

15

FORe T Hp B4R

n B FARR G ARk o
= 110-03 =110+ 3/32

X6 35 5 $100,000 0 F B F G HH
%4 % $1000 -
100,000 + 100 x 1 = $1,000

» B E
%

$1 /]
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Interest Rate Futures Quotation

Interest Rate Futures

Treasury Bonds (CBT)-£100,00; pts 22nds of 100% 30 Day Federal Funds (c8T)-$5,000,000; 100 - dally avg

March 11205 1207 10127 10200 -1 777963 | Jan 9ATS0 W60 TS0 4TSS wa
ne 1204 1204 117 1022 -1 7450 | Feb 94755 MI60 4755 94760 120416
Treasury Notes (¢Bn-5100.0;pts 3ds of 1004 1 Month Libor (ME) $30000: ot of 100t

March  107-280107-295 107215 107260 2.0 2,296,474 Jan GAGTISOAG800 946775 SAATIS -005 23540
June 101260101200 100240 WM 20 BBL | g 9agrrs G46825 906775 946825 Hhk[} j;, ;‘\\3

5 Yr, Treasury Notes (¢BT)-$100,000; pts 32ds of 1004
March 105090 105100 105045 105075  -2.0 1425917

Eurodollar (M) $1,000000; s of 10
Jan 946375946450 946375 944425 42 487
O . . June 948250948300 947750 947900 3
h 200,000: pts 32nds of 100% H
2 1. Treasury Notes (CBTH 20010 s 30 of 0 Sept 950000 950000 94,9400 949550 0500 13
March 102042102042 102015 102025 L7 770,033 | Dec 951300 951300 95.0700 95,0900 -0450 1,316,779

# #& ¥]3 (Conversion Factors)
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Treasury Note Futures &
Syr Treasury Notes Futures

|

m Treasury Note Futures ¥ 5yr Treasury Notes Futures
2 E A EEBE

» Treasury Note Futures 50v 2 2| % & F 5§ 7
6.5~10 & o

» 5yr Treasury Notes Futures 7% 2 3] f ¥ & Jf 5 § ¥
B4~58& -

m Treasury Note Futures £2 5yr Treasury Notes Futures
1% 2] 7 3% &2 Treasury Bonds Futures 4p 7 » F]t &
F W4 % Treasury Bonds Futures e & = 5% o
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BEG S PG {155 % ¥ ERS
A 6% FI 0 @ AEEG S T
% $100 -
o Ex.: 12T iR G 5 o WA e

3/1.03 + 3/ (1.03)"2 +100 / (1.03)*2 =100

REFESAFIH D > gUBEELI N AL B
iz dic -

s GHFHF20EX 2B D THEHTAEL 208
s GFHT20EX 4B D TEHTAEKL 208 2~ 3B
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| #ol- kB EERS

w BERFRGAG O FHEF L 208210 5 B

F1510% » 2 fH 5]+ 5w ?
. AEGFHEFL20E

. 40
y 2 199 gi4623
103 1.03

» &3 F13 = 1.4623
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‘ %g/l}lj.: DRE #E TS

|
n BRRRFAGFOFEPEL20EX 430 0 R {5
8% > R F+ 5w ?
n AEGEHPFL20EX 3B .

-0.3m 0.3m 1.5m
T4 100 IR
+ Tt =$125.83
21-03' 1.03%° t 09m  2.1m
Now

AR B 03B M
(1.03)7(1/2) -1 = 1.4889% Ba X 2
P F AT 1258371014889 =$ 123.99 (Dirty Price)
FAAIL $2(=4x0.5) 0 o+ ¥ K 0 $121.99 (Clean Price)
« 3 FS 1 1.2199

. 7
i
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™M ¥ ehif ¥ 2 3] (Cheapest-to-Delivery Bond )

e

AT R _tujrrnF. FrHE— o F]pL IR

A
SAEEREP B Pl
& © (Quoted futures price x Conversion factor) + Accrued int.
24 (F %% +) : Quoted bond price + Accrued int.

« B E X
Minimize (= #-% i)
s TR E, FETETSAEM, hif X o

—-\

L

23

Example

= Assume the current futures price is 93-16. The cost of delivering

» The cheapest-to-delivery bond is Bond 2.

each of the bonds is as follows:
= Bond 1:99.5—(93.5x1.0382) = $2.69
= Bond 2:143.5-(93.5 x1.5188) = $1.87
= Bond3:119.75 —(93.5 x1.2615) = $2.12

Deliverable Bond Quoted Bond Price Conversion Factor
1 99.5 1.0382
2 143.5 1.5188

3 119.75 1.2615 2




t+ 2 % K& (Wild Card Play)

s SEHEE PR R ERFT = 2:00
n NFE PR BT E 400
EIRERF A ATHHEP 0 F P hRifiE LB
oH R LT E 800 — R BB A
PRy R o
w Bl RAHE S E T 2E e Hh e P
o F 2B FEBRTE MBS FAT
DN SRS N I I TR Bt
G2 SIRFS O SRR e
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Example

é;“.,{f,_ FEW bl w G E S J I $120 0 B & 15 12% 0 &
HFF 14> ka G 10% 0 BRR e F R R rn¢zvj # % 270
( 0. 7397}/) pis e
The cash price of the bond: 120 + 60/(60+122) x6 = $121.978
The present value of a coupon $6 received after 122 days (0.3342y) is:
6 x exp(-0.1x0.3342)= $5.803
The cash futures price is: (121.978-5.803) x exp(0.1x 0.7397)= $125.094
The quoted futures price if the contract were written on this bond is:
125.094 - 6x 148/(148+35)=$ 120.242
The quoted futures price is: 120.242/ 1.4 =85.887

Coupon Current Coupon Maturity of Coupon
Payment Time Payment futures Payment
| | | | |

[ I I I | 27
60 Days 122 Days 148 Days 35 Days

o E %U (Eurodollar Futures )

|

EERBPDEAFHR LI BTHER
WHEA S F ARG E G T -
FLLT A e A F 1 22 LIBOR
i

[ -@Hﬂpm@,)l E g
AR BRFLEDNIHE - B
TR EATHGE -

% CME (Chicago Mercantile Exchange ) < % -
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W E P %U (Eurodollar Futures )

AT
» 5 £:53,6,9,12 7
u ﬁxi"/l’\]: f]}ﬁjg"! > (;)E_i P )
B P EE T E o bl 20040 T EE

peEH e 2014 = B Y B E s A
% o

—f

FIEPP AR T ZBEDZ o
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W E E (Eurodollar Futures )

HHAR
n Q=7 HH o A2 B AW FH DR R E
Mo HEE %o
» (100-Q)=R %7 A= B 14— =xeniE it /il
& oo

Bk B4R Q=96 % * ’7ﬁ}3 fEA LI T AT
HppE o = B AT = e ) F 4% (100-96) -

BREH Q> &7 7 ."Héﬁﬁﬁ FHIZARFT =B B E =
B2 AF - e Al s 5 (100-Q)% e

o E %U (Eurodollar Futures )

[

#%H > 10.0001 =0.01% = 1 basis point (bp)
X #ictE 23 N Actual/360

- v 3" (90-day) B E A FEHANFHE T UEKLT A

HBETHAAE-3B2HF $1 m11110n BEE=E N L

P EMERFA TR F R Bk $imZ B
(R Q=100-R> §F »3H) -

n EIREPF A T o E . nga} % R> > $Im =
(R Q=100-R > § vl?—ﬁ)

ML o

W EE lbp o F Y B $25 -

$25 =1,000,000 x 0.25 x0.0001
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W E E (Eurodollar Futures )

n BHIRP CBRR T SR 9712 2 3 97.23 -

R F A0 BT $275—llbp><25
. CESMERFA D AL $275=11bpx 25

w EIEHFA=F 5 H = g EIA
s E QL T ILEEY [ RG]
o BHPILT R REEHF o T RE e B
n ERERFTA=FABE = & F 1L
o QT T UEEY f RS G N B
s FHILE A G P T R A B
32




W E E (Eurodollar Futures )

[
BB ERHOHEE > BRHEADEROID & B LN
o RIpE AR E anfp fINi o
EHEERT RFER Y B
1,000,000 x [100% - 0.25 x (100% - Q%)]
=10,000 x [100 - 0.25 x (100 - Q)]

B F Lo 2 gmms 2 g e
—'T:v_fr‘f_"’_i,’l? Ao 3’-"]1}: AL 3 jﬁ—fu] o
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W E E (Eurodollar Futures )

1
W EGE D cE o kP RO B

= Date 1: P1 = 10,000 x [100 - 0.25 x (100 — Q1)]
= Date 2: P2 = 10,000 x [100 - 0.25 x (100 — Q2)]

= Date 2 £ % = e ¥ ¢ 10,000 x 0.25 x (Q2-Q1)

» Date 2 @8 e £ 1 10,000 x 0.25 x (Q1-Q2)

w BF 1bp, §RAFEF LB $25 (10,000x0.25x 0.01 =$25)
B3k Q2 1bp.:

o ) f RN +825

o B AERR - §25

B ZNFF I P o BIF
DIFIE P Bts- S BE o R
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Example (1)

2007/1/8 » F L F A #-12007/6/20 B 3% $5m = B ¥ o e T
FEQ ST 5 > Tt B 5 A0S o K June 07 eh= B 2
B E A PR G 19479 ¢
WK DT AR SO PRI g RF o
% 2007/6/20 5 358 BRI 0 B IS 5 4% (=R) > HET F
HERH S 96 (=Q) e FIMFHFT AL 4 5

5% 25 x (9600-9479) = $15125
vE R E B 1 $15125 =5 x(990,000-986,975)
= 2007/1/8 2 % & 1 10,000 x [100 - 0.25 x (100 — 94.79)] = 986,975
= 2007/6/20 % ¥ # & : 10,000 x [100 - 0.25 x (100 — 96)] = 990,000
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Example (2)

= 2007/6/20 F|H pF - £ 4T~ 1 $65,125
s J135 4% H175 2ol ~ ¢+ $50,000 =5,000,000 x 0.25 x 0.04
o pRnifer ¢ $15125

= & £ $5,000,000 > 1 & 4 » $65,125 » & 7 i A1 F
521% » ¢+ 8p b4 e 2015 (100 - 94.79)% -

$ 65,125 =5,000,000 x 0.25 x 0.0521

36




e IE R

s FRppoplER P PIFEDEFATRE
s I - EmE PEAG «’*fi*ﬁﬁ%
B HAATEF Y * L3 (Convexity Adjustment) 1T iz 2

Eal
1
Forward Rate = Futures Rate - 5(7 TT,
= T, : Time to maturity of the futures contract.
= T, : Time to maturity of the rate underlying the futures contracts.
oA EREPJIFRHEEL o
w DRI R Pl e L.

37

Example : Convexity Adjustment

|
[ IF);‘.,Q -&.ﬁ)"f ‘v‘nmﬂ—ﬁ—i, 12% > /\_&ﬁpm;}\ MHE A
4l ’*szx';q,a 94« F)pt > T1 =8, T2 =825 -

Convexity Adjustment = (1/2) x(0.012)"2 x 8 x 8.25 = 0.00475

= Futures interest rate = 6% per annum on an actual/360 basis with
quarterly compounding. This is 6x365/360 = 6.083% per annum on an
actual/365 basis with quarterly compounding or 6.038% per annum
with continuous compounding.
6.038% = 4 In(1+(6.083%/4))
» The forward rate is 6.038% - 0.475 % =5.563% per annum with
continuous compounding.

38

m BRI X PTL EREHZERPT2 -
w %3 =

39

s P FEPSEEBYENIY - R o AR
Fo(F1F) BflFan .
m R

B3R (s xw P ERE ARG AEKNS - FBEY
%uﬁf\j’;i —'r)\'f &

LR “Kr&ﬂ SRR TR

el B T R A R

Flut o T frE g, fqﬂn P, & =i f
R R E SRR R - F LRI I U i
AF -

40
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[ T2 (Duration)

GHEYT LG AEG A RTIm AR T

L Fapk oo

BRFFAEFFt, RS e FEHH#B

FEeEdy GREE) Rl
"% B=Y oo
=1

n -V
Duration D £ Zti {CieB }

D= & 1) Rt SV
m‘/‘ll) nl%ﬁ.“fﬁ;@t

-

TREE

%

B enT ol > NI LB

41

| EFE YR
| n
m% i B=Yc
i=1
A

T K%=(i¢@‘“}—n>o
i=1

e VIE I A Sk oy BT

Il B 1) I?‘JJJIETQB’FI"@

c.e Vi
s | Rteet

42

R e

AB = —-BDAYy

A B

——=-DA

5 y
S LR UE R o SR
g AT R R oo

—

EEGRBET A G S E F LR A

%

{

-l E

5 o

43

Calculation of Duration

|
Suppose the yield rate on the bond is 12% per annum
with continuous compounding.

Time (y) Cash flow

Present Value Weight Time x Weight
Ti Ci Pi =Ci x exp(-Tixy) Wi =Pi/P Ti x Wi
T1=05 5 4.709 0.050 0.025
T2=1 5 4.435 0.047 0.047
T3=15 5 4.176 0.044 0.066
T4=2 5 3.933 0.042 0.083
T5=25 5 3.704 0.039 0.098
T6=3 5 73.256 0.778 2.333

Total 130 P =094.213 1 D =2.653

44
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Example

|
m d A7 & B=94.213 > D=2.653 > F| :

AB =-94.213x2.653x Ay =—249.95x Ay

s ¥ Ay=10bp (0.1%) > AB=-0.24995 =-0.25

. Ey=12% D y=12.1%
S5xexp(—0.121x0.5) + 5xexp(—0.121x1) + Sxexp(-0.121x1.5)
+5xexp(—0.121x2) + 5xexp(—0.121x 2.5) +105x exp(—0.121x3)
=93.963

AB=93.963-94.213 =-0.25

45

[ 12218 3 B HP P (Modified Duration)

n Awo FEREFyELBRIAEHT FeiE EAHT
m

Bl ﬁﬁﬁ—ﬂﬁﬁa.ﬂ”;}}\‘ llét»t,; :

io m
n —mti ’mtl
Zt,c,(nyj ) C.(1+y)
D=1z m = Zt m
B = B
Fa 7 AR D = —2
1+
m

46

Vs

13l YR m']&_?ﬁ

AB =-BD"Ay

B =-Day, y BEHA m -

47

B:Zci[uly CsflEs Ry B W

n y -mg
y ;.Zl“i(”a)

—772t,ci(1+—j
= 1+
m
[fl = 1) i 5y s B PR
AB _ Z (”H] D
Ay = — Ay
B B[Hi] 1+ L
m m
=-D’Ay

D "# 5% [S dx B W 50 R ( Modified Duration) e

e

48
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Example

s RS 94213 B MR 2,653 0 L Edg

«flj-— T E ¥ y=12.3673% -

F8mD* L

D* =2.653 / (1 +0.123673/2) = 2.499

Fptoo F (X EAFT -
10bps » i % % $&77 *% .

) e E FH

AB=-94213 x2.499 x 0.001 =-0.235
FEB RS A D93.978=94213-0.235

g e s ez

49

| %37 2 & ¢ Duration

|
B P AL n %5 A S pO f  400WE
EHRITP=YB,

l@?l?ﬁ 7 B, iV Duration £} D, >
HITfF 55 45 v F"[EJ Duration D, &40 ¢

n B
DPzzWiDi’I’IH[Wiz —

38,

il 50

[ FA®

T‘“M

[RIF= s [R5 IR P EHERRE 96 > =5 (I (Yield to Maturity)

71 I:I
FORBELRI T A %__

A (R ST S

F*,]?jﬂ OEIE 153 ) U
TREEIE A

4 & e Duration

D, Ay -

FFfORBEE ] -

Pi[@%lﬂ 7 Yield Curve

51

[ L4 (Convexity )

Y
e Duration i & & Ay %% ab

|
X AB

e R () P e

s FERFTHEXEY-H
47 48 Fe 0 Duration » %]y Ay
3 Ay %?v”’ﬁ'?fif‘ifl‘?% '
FFEEHERLIED L o
X
Y
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[ L4 (Convexity )

Ay% it i~ pF o> 6—*1% v

fﬁ)"[*up fas hA §E 0 F] X a8

'?“ EX By S B
BLEY X o

T

.;%gﬂfzggi@*m%’%ﬁ% Ay
J& 1% /8 Duration > 3/ ¥ Jg
Convexity °
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=< » % 2 = A N
RAE L RO F e e #R
(Hedging Portfolios of Assets and Liabilities)

|
= ERPHESTREIFLG AR
Duration £ § % ¢ 32 Duration 4p fo ©
#p @ fe ¥ (Duration Matching) = 4% 3
(Portfolio Immunization) °
= 7 & : Long positions in bonds

BT A
o F‘*l:fég_

¥ }f
2ERLE

= f i : Short positions in bonds

= 3 Yieldcurve T (748 +1bp » T A f F Fd 44 o
. TATH
. R

54

55

T

EEEPEERET > ISP FRBEIIFR G

= Notations
s P15 &9l (RPFADDEHR)
» Df: &4 {7 3] PF > B § #c0F A 9 Duration
PR T EL ARG RS B BR
7B ERARR -
» Dp: 3G PFFEL > I F 2 & FDuration
m T 3 3K Yield Curve T T o

56
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%

bW ERET o I RE ISR

|
BRI REFTFREF Ay B
. AP—-PxDpx Ay
= AF=-Fx Dfx Ay
Duration-based hedge ratio or price sensitivity hedge
ratio is N*= (P x Dp) / (F x Df)
N*E g P 3 & el j B 28 -
=« AP=(AP/AF)x AF = AP/AF=N*

It makes the duration of the entire position zero,
Duration of (P+N*xF) is zero.

57

| 2R %7

‘?ré * ’P L f s o R ERATERVR- HHE LT N6 AR
Z% % (Cheapest-to-Deliver Bond) > ¥ r %
Durationo FLEFRAT N LD X o P AN FE G
Wi o

flgTs o PR HRE A o fIF 2 G RRETE

. 3 \1‘}]"‘"%%5#;% s /in%‘flj"*ﬂ}i%—v\rﬂr o

s BAPIF ARG Fer fIEY fEne -
REEPHIhe o dr EPpad H2FPh i (Treasury
Bond and Treasury Note Futures Contracts )

Rl h e & * g4 LY [ (Eurodollar Futures

Contracts) ° =

FARFTELBS

(Hedging a Bond Portfolio)

820 F A LKA FI SI0m f X F L o BREA K3B
3 mﬂf | b o IF;»;(;’ZJP X F & & eh Duration=6.8 £
'F‘ SR A gt 2}?% #p E—%F.Li@j’ R M o BRI 127 FHp e
ﬁF};:ﬁ?l}: 93-02 - d B FEREFT ViR in\’i"lﬁ)’m
Duration =9.2# -

$oif #% U #ic 0 N* = (10,000,000x6.8/93062.5x9.2)=79.42

FIpL o % i~ .’% X g ;r'ra*rsf* 719 o

B 8/2~11/2 2R A peiE TR

s FERFELEEE LT $10,450,000

. B FAEH 5 98-16 F Y p. 4 % 79x(98500 -93062) =$429,562.5

= Net Change: 450,000 -429,562.5 =$20,437.5
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Ff—ﬁ"f % ,jl':;’] 'ﬁ'l@"ﬁ
(Hedging a Floating-Rate Loan)

47 > X oPa o 3B B ansd ] F g $15m o 14
FBYRAA > fIF 540 49 1-mLIBOR +1% -

B% L op R JmlmLIBOR,aS%’ RIS - B0 i el
FRELS 9% RFEFREN IR G -

B $lom AHe sl A HARFL A HASL
& b

|

7

\ } }
4 5 6

60

15



FE P F ARG
(Hedging a Floating-Rate Loan)

521 w ;@w GlF AT R (59) 4@ @ F R

—* ’?<

» B3k June Eurodollar Futures contract 4 p #F i % 91.88 « F]pt » & ¥
2 % 110,000 x [100-0.25x(100-91.88)] =$979,700

= i 20 ¢0 Duration = 1 month = 0.0833y

= Eurodollar Futures contract ckend_= B 2 gt £ ~ 23 5400 #1 12
Duration =3 month = 0.25y

R FENLEAEE R wsE i

N* = (115,000,000 x 0.0833) /(979,700 x 0.25)=5.1
GBS T FEINL TR o

61

e ’f & ,{"] VS il
(Hedging a Floating-Rate Loan)

|
= 5/29,1-mLIBOR % 8.8% 6" # j4F§ 91.12 -
. \’jJﬁF% a,;]f,m,izx.‘ :
5% (979,700 — 977,800) =$9,500
or 5x25x%x(91.88-91.12)=$9,500
m FlE I 8% e T 8.8% 0 & F LA MK 4
15,000,000% 0.008 +~ 12 = $10,000
m GRS o I g e L 4 i $500 o

62

FE P F A
(Hedging a Floating-Rate Loan)

53 @ @me ATRY (67 ) 4@ @ FpcRE
SER)
n K September Eurodollar Futures contract 7 p 4F §f 5 91.44 o F]pt »

& ¥ 5 110,000 x [100-0.25x(100-91. 44)] =$978,600
. f%, #% <9 Duration = 1 month = 0.0833 y
= Eurodollar Futures contract &8 = B ¥ g £ A 8 35 3 #71Y
Duration = 3 month = 0.25y
. 4L’»,”E@>\_ﬂ}i%fr"fiw‘af’r We o e E =5
N* = (115,000,000 x 0.0833) /(978,600 x 0.25)=5.11
GBS TP EIN LT
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=4 AEUEECE S 4
(Hedging a Floating-Rate Loan)

I
» 6/29,1-mLIBOR % 9.4% > 9" # {47 % 90.16 °
w P AW R R
5% (978,600 —975,400) = $16,000
or 5x25x(91.44-90.16) =$16,000
s FIEFIFE 8% H AT 94% 2P Jl L4 M4
15,000,000 x 0.014 =~ 12 = $17,500
RS Al A ] L 4 & $1500 ©
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Exercise

= 2,7,8,9,10,11,12,14,15,17,18,27
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